o/ XVDEBEE BECHEETE,
BUIFIETRES

TEEY,

360’ BEICEIER CED,
oEXZICH LY NTES I BE,
ofFE(CHMZERETTED,

BmITYNVEIBESR/ X)VDEk

Féﬁ% JI‘J|‘7.|'J§=

BA{i] (mm)

JTASP-1/8-10
JTASP-1/8-30
JTASP-1/8-50
JTASP-1/4-10
JTASP-1/4-30
JTASP-1/4-50
JTASP-3/8-10
JTASP-3/8-30
JTASP-3/8-50

1/8"PT-®4*10L
1/8"PT-d4*30L
1/8"PT-®4*50L
1/4"PT-®4*10L
1/4"PT-®4*30L
1/4"PT-D4*50L
3/8"PT-®4*10L
3/8"PT-®4*30L
3/8"PT-®4*50L

FEHAX
D THREAD(S) L
4 PT 1/8" | 10
4 PT 1/8" | 30
4 PT 1/8" | 50
4 PT 1/4" | 10
4 PT 1/4" | 30
4 PT 1/4" | 50
4 PT 3/8" | 10
4 PT 38" | 30
4 PT 3/8" | 50

o Nopll ;' Nl o Nepll -» Nl (o)

B1 HEXAGRAM (B)
17
17
17
17
17
17
17
17
17

D OO0 OO0 OO O 0O

THREAD (S)

L

JTASM-10-10
JTASM-10-30
JTASM-10-50

M10*1.25P-®4*10L
M10*1.25P-d4*30L
M10*1.25P-®4*50L

M10*1.25P
M10*1.25P
M10*1.25P

FEYA4X EA{i] (mm)
D THREAD(S) L B1 HEXAGRAM (B)

JTASN-1/8-10 1/8"NPT-4*10L 4 NPT 1/8" | 10 | 6 6 17
JTASN-1/8-30 1/8"NPT-4*30L 4 NPT 1/8" | 30 | 6 6 17
JTASN-1/8-50 1/8"NPT-4*50L 4 NPT 1/8" | 50 | 6 6 17
JTASN-1/4-10 1/4"NPT-d4*10L 4 NPT 1/4" | 10 | 6 6 17
JTASN-1/4-30 1/4"NPT-4*30L 4 NPT 1/4" | 30 | 6 6 17
JTASN-1/4-50 1/4"NPT-d4*50L 4 NPT 1/4" | 50 | 6 6 17
JTASN-3/8-10 3/8"NPT-d4*10L 4 NPT 3/8" | 10 | 6 6 17
JTASN-3/8-30 3/8"NPT-d4*30L 4 NPT 3/8" | 30 | 6 6 17
JTASN-3/8-50 3/8"NPT-d4*50L 4 NPT 3/8" | 50 | 6 6 17

FEUHAX EA{i] (mm)

Bi HEXAGRAM (B)

09 » www.jeton.com.tw




